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FHAERT 99 106 115 221|Fn FHET 201 169 167 336|FkHT— T H 295 251 184 435 | RHEAT 275 314 320 634
ARYHT 189 174 205 379 AT 12,416 11,662 12,601 24, 263|%kHT — T H 171 163 126 289 | K HERT 670 812 891 1,703
JEHT 438 397 472 869 WT=TH 128 144 134 278 KIEHMX 3,694 4,273 4,454 8,727
T 726 734 748 1, 482| il ERT 242 249 272 521 |#kET Y T H 67 43 50 93
b BHT 308 293 319 612| IR 3,818/ 3,904 3,945 7,849 AN4RHEX 9,977/ 10,157 9,970 20, 127 |Fa[ A T 377 466 458 924
i T 263 225 220 445 |Figfar BT 179 195 224 419 BT 241 309 343 652
)T 110 114 119 233\ HHIT 482 482 478 960 [ Hr T 1,212 1, 480 1,448 2, 9285 IiET— T H 506 522 555 1,077
KAGHT 633 589 565 1, 154|JLAHT 3,731 3,933| 4,057 7,990 | %% H hmET 352 394 418 8124k LT =T H 225 227 256 483
BT 18 10 15 25| FLRmT 3,468  3,579| 3,696 7, 275|HRAT 1,640/ 1,669 1,782 3,451 |H/NEAT 608 669 691 1, 360
E= 201 51 43 50 93| &My 592 597 630  1,227|H@EAT 1,143 1,320 1,311  2,631|[Li4HT 1,574) 1,880 2,036 3,916
Fn T 215 222 264 486 i BT 1,370 1,481 1, 590 3,071 HreaHix 4,347 4, 863 4, 959 9,822 I /\iEHHX 3,531 4,073 4,339 8,412
Aeimmy 94 62 60 122| RAhHT 156 160 177 337
JUTREHT 195 202 228 430 H EHT 339 405 484 889 | -2 HT 2,892 2,934 3,163 6,097 shHT 451 466 515 981
LI 125 97 85 182 ARET—T H 366 381 396 TT7| RI\AKHT 1,205 1,296 1,206 2, 502|ZEIEFHT 297 344 347 691
AT 66 57 64 121 R ARET =T H 494 527 506/ 1, 033|/N\AHT 1,274 1,400] 1,438 2, 838|%5 % HIHT 735 778 815/ 1,593
TFIHET—T H 148 151 150 301 ERIT="TH 503 557 543 1, 100|EASE T 457 540 563 1, 103| Hrp HLRT 228 276 277 553
TRIEET =T H 117 135 119 254|HERATIY T H 307 325 397 722|MERTPE— T H 49 43 24 67| & HpmT 1,183 1,387 1,412 2,799
THRIEET =T H 125 121 119 240| R HX 16,047 16,775 17,395 34, 170|M=ATE — T H 108 100 90 190 BT 707 859 902/ 1,761
TEIHETIY T H 137 150 161 311 AT —T H 323 229 317 546( st 3,601 4,110 4, 268 8, 378
TRIHETE T H 59 48 12 60|41 JE T 3,754 3,943 4,114 8, 057|MEET =T H 30 32 30 62
HEFAmT 457 422 483 905| J [l — T H 276 307 351 658 ([ IT =T H 20 12 18 30/ Fr 2 BT 5,751 6,152 6,384 12,536
FI4RAT 23 18 20 38| [T T H 583 594 663 1, 2572 HETY T H 124 125 123 248 | JLRT 210 272 303 575
TTHT 174 167 206 3T AT =T H 886 866 966, 1, 832|ULpLHT 1,954) 2,090 2,235 4,325 AREFHIX 5,961 6,424 6,687 13,111
AT 29 19 29 48| SF M 1,631 1,646 1,753 3,399  HIHIX 8, 436 8, 801 9,207 18,008
AT 177 151 196 347| Fe AT 1,490 1,468 1,554) 3,022 PN/ 399 433 480 913
ENINTE 504 478 524 1, 002[EE A W] 192 186 185 371| 4 F-hmT 463 416 557 973| KU H T 530 621 617 1,238
YRR 27 20 23 [N\ TRET—TH 517 521 502 1, 023| &Il AT 2,322 2,354 2,423 4, 777\ J BT 644 789 742 1,531
T 82 64 74 138\ TARET =T H 405 353 416 769| T KM 241 305 324 629 | 74 5 |T 144 153 146 299
AT 39 37 50 87|\ TFAHET =T H 483 509 542 1, 051 |5 =T 979 1,013 1,056 2, 069|#Kk/5HT 617 747 750, 1,497
[T 319 238 295 533\ THRHETIN T H 383 407 445 852 | HRERHT 541 625 608 1, 233| & T 375 419 380 799
HHT 157 150 170 320  FrRE X 10,600 10,800 11,491| 22,291 |y =MT 379 393 452 845| 7t k544 HT 542 653 664 1,317
ST 2L 587 591 592 1,183 AL 2,370 2, 750 2,796 5,546 KU f X 3,251 3,815 3,779 7,594
LAl 26 27 24 51| Ly BpRT 2,343 2,520| 2,666 5, 186|F7HIAT 153 199 194 393
# LT 505 487 547 1,034 BFEERT 43 42 49 91| J\igEHEX 7,448/ 8,055 8,410 16, 465| iy 270 350 355 705
AT 24 31 28 59| b JERT 3,607 3,741 3,736 7,477 TR THT 150 186 198 384
RS RLET 230 206 176 382| AL HERT 343 368 439 807 | - & my 1,278 1,424 1,431 2, 855 T 7 HIAT 166 208 219 427
JEHT 164 160 156 316|2HT 702 694 711 1, 405| T [ |y 1,855 2,088 2,130 4, 218| FiEHT 415 495 503 998
AT 389 356 388 T44( FPEEFHT 1,345 1,639 1,623 3, 262 | H 8 [iE] T 828 855 958 1, 813| 1 T 334 447 420 867
Eakiiy==tg 20 17 21 38| Tz T 1, 669 1,935 1,891 3, 826 |ALALRHET 456 456 513 969 | V5 £ 1] 405 484 447 931
A AR HT 1,612 1,613 1,772 3, 385| T HEHT 1,075 1,229 1,221 2,450 [ X 4,417 4,823 5,032 9, 855 | J\ I JLHT 389 460 483 943
R T 185 175 181 356 Hr i PRT 404 455 456 911 i) 1 H X 2,129 2,630 2, 625 5, 255
gzl 143 130 159 289|FFEIT— T H 577 626 599 1, 225|HPmT 483 552 592 1,144
[l 179 153 163 316| P EHT T H 1,303 1,217 1,441 2, 658 |44 Hii T 462 578 610 1, 188[ AN = & 469 529 509 1,038
B oThT 193 185 225 410|"PEET =T H 620 661 719 1, 380|L38r i |y 169 193 201 394 | BB MT HE FH 393 436 433 869
EN) 162 132 150 282|TPEHETIU T H 648 665 710 1, 37547 /1T 142 185 189 3T4| AR ATE 184 199 202 401
JEATEAT 110 77 67 144 BFERT 983 1,020 1,045 2, 065 |1k IH] 1, 204 1,374 1,445 2, 819| A PHIMT K 112 128 144 272
N 351 376 441 817 i1 FH % HHT 644 635 558 1, 193 8T  BT 369 425 461 886 | A HHINT )17 337 339 367 706
L 239 187 232 419| B H X 16,306, 17,447 17,864 35, 311|%&MHIAT 438 509 508 1,017 APHX 1,495/ 1,631 1,655 3,286
|11 FH T 111 94 102 196 Fldgmy 260 329 331 660
EL) 101 84 97 181 kN Eymy 794 848 913 1,761 RIFHLX 3,527 4,145 4,337 8, 482|FCHBHTPE I 2 708 800 857 1,657
PU 7 T 37 40 36 76| L/ NERT 488 575 626 1,201 FEYBIT 4 U 93 105 118 223
GaeLlE 44 41 42 83| LR 2,965/ 2,930 2,735  5,665| - ENT 1,277 1,372 1,411 2, 783|FE4RRTFA 2 IR 299 194 180 374
FEELIT 100 85 70 155| T /N K HT 2,232 2,245 2,256| 4,501 |fE KAEAT 309 375 375 T50| FEABIT 5 1,015 1,222 1,276 2, 498
HAEHT 255 259 287 546| T/ AT 1,461 1,530 1,484 3, 014 |4RIRr AT 696 854 895 1, TA9| FEAR T HH = 409 493 507 1,000
RAHT 344 293 318 611 FLAHET 1,376 1,428 1,462 2, 890| T AJHMT 467 546 562 1, 108|FEABMT R 1,442 1,647 1,699 3, 346
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FEHRMT T 790 935 973 1, 908 & H-HT /1M 147 192 193 385
FEYBIT 5 ] 336 451 450 901| & FHHT L1 239 285 293 578
BT 213 248 225 473| EFHT AR 491 621 601 1,222
BT 1L 156 183 208 391 | EH T 281 327 321 648
FEYBHT )1 426 491 513 1, 004 & H:HT th 610 757 724 1,481
FEYBIT o B 6 5 5 10| & HHT % 424 538 530 1,068
FEYBHTFIARR 975 1,259 1,249  2,508| % HHT L 95 125 129 254
FEHBHT A5 1,787 2,003 2,211 4, 214[FE T 33 41 42 83
FEHRHL X 8,655 10,036 10,471 20, 507| & HATHA{R 298 381 381 762
E AT 229 184 213 397
Aty 3,708 4, 457 4,595 9, 052 H-MT A 35 44 42 86
JEFHHET 1,649 1,923 2, 052 3, 975 HMT KR 10 8 14 22
Ly 561 750 799 1, 549 HFHIT Lt B 378 474 445 919
By 198 242 253 495| EH FHTERIR 47 62 66 128
Filaduf 15 0T 304 328 324 652 HHT A 147 178 168 346
N 140 161 174 335| & T 150 195 208 403
% T FH AT 72 88 102 190| & M7/ R 345 413 423 836
S[E Sy HT 260 366 377 743 T g 118 157 161 318
TG[E 5y HT 242 332 320 652| & HHTE 191 217 207 424
Je sy 402 427 425 852 | HHT /N 213 272 268 540
TorE BT 3,458 4,171 4,211 8, 382 HMT I iz 583 715 698 1,413
AT 1, 660 2,003 2,049 4, 052 HHMTFF B — T H 341 379 379 758
= Sl 827 1,015 1,029 2, 044|EHMTHEBE T H 392 427 462 889
rhR T 1,481 1,636 1,655/ 3,291[H MR =T H 299 412 400 812
T 1,332 1,463 1,493) 2,956 HHT IR 325 375 402 777
v ELHT 471 566 591 1, 157| & T T BLF 95 119 119 238
R FH AT 647 836 816 1, 652| & HHT_E B 134 177 154 331
JE T 518 612 646 1, 258| & HMTIK O 58 73 71 144
TG H X 17,930 21,376 21,911 43,287 HHHX 9,892 11,821 11,911 23,732
iy 5,683 5,909 6,210 12,119
IR LIRS 5,683 5,909 6,210 12,119
e HET 1,090 1,239 1,315 2,554
P T 890 783 919 1,702
s T 450 526 514 1,040
e Ly 89 49 77 126
BT 34 27 44 71
R BT 393 533 548 1,081
T HELRLET 1,008 1,162| 1,190/ 2,352
v L LT 717 841 886 1,727
R ELEET 1,022 1,187 1,202 2,389
AGRHE] 874 1,079 1,058 2,137
T 700 837 866 1,703
FIE T 179 216 206 422
+ 3T 186 221 234 455
ERET 319 395 389 784
=Y A-RAT 107 113 116 229
AT 122 148 138 286
Hedn X 8, 180 9, 356 9,702 19,058
E T I 677 744 773, 1,517
T H 1,182 1, 306 1, 341 2,647
EFHH] T RAR 294 346 335 681
AT AR 1,031 1,277 1,348 2, 625 WA F 167,523 182,982 189,278 372,260




